Circle the greater length

in each box.
| 3yd 5t |
L. |
| 2mi 7280t |
L. |
| 9%in 4yd |
L. |
| 9 feet 102in. |
L. |
| 7yd 194 |
L. |
| %7 a5t |
L. |

Describe how Kou
will figure out how

many inches are in
10 teet 7 inches.

The answeris:

Unirs of Leneguh
CONVering

CUSHOMARY UNIES
OF 1eNgth

1 foot (ft.) =12 inches (in.)
1yard(yd)=31t.
1vyd.=36in.

1 mile (mi.)=5,280 ft.



3ft=____vyd.
1 yd.
1ft. | 1ft. | 1ft.
6ft.=_____yds.
1 vyd. 1 vyd.
1ft. | 1ft. [ 2ft. | 1ft. [ 1ft. | 1ft.
1ft.=_____ in.
Sft.=_____ in.

Complete the following.

Oft.=_____ in.
108in.= _____ft.

dmi=_____ft.

72in.=_____ yd.

108in.= _____ft.
2ft.3in.=_____ in.
108in.=_____ yd.

3yd.=_____ft.

Complete the following.

15yd.=_____ft.
4mi=_____ yd.
42ft.=_____yd.
30in.=_____ft.
S5yd.8in.=_____ in.
12yd.=_____ft.
2640ft.=______ mi.

2yd.9in.=_____ in.



